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\ Qg Daily Calculations  30/3/20
W3

. Gey | Gee | Gold
452 + 546 = 2451 + 1399 = 9872 + 789 =

652 —435 = 876 —388 = 0876 - 4989=

850 + 10 = 850 + 100 = 8500 + 100 =
4x12= Ox12-= 12x12 =

v> of 4822 = v> of 794 = % of = 340
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452 + 546 = 998
652 -435 =217
850 +10=85
4x12=48
72 of 4822 = 2411

\ {Q. Daily Calculations  30/3/20
A

2451 + 1399 = 3850 9872 + 789 = 10661
876 — 388 =488 0876 - 4989= 4887
850 + 100 =28.5 8500 + 100 = 85
Ox12=108 12 x 12 = 144

v> of 794 = % of = 340



\ Daily Calculations ~ 31/3/20

. Gey | Gee | Gold
> of 866 = v> of 4452 = v» of 7532 =

563 + 451 = 876 + 789 = 8768 + 8658 =
85x10= 85 x 100 = 8500 x 10 =

863 —425 = 4231 — 1866 = 6541 — 876 =

48 + 4 = 75+5= 385+5=



2 , Daily Calculations  31/3/20

%2 of 866 = 433 V2 0f 4452 = 2226 > 0f 7532 =3766
563 +451=1014 876+ 789 =1665 8768 + 8658 =1/7426
85 x 10 =850 85 x 100 = 8500 8500 x 10 = 85000

863 — 425 =438 4231 — 1866 = 1635 6541 - 876 = 5665
48 +4 =12 /5+5=15 385 +5=77



Q o Daily Calculations  1/4/20

h J
Grey . Green | Gold

45 + 5 = 120+ 10 = 252 - 6=
4x2x3= EX6X6= O9x3x/=

862 — 564 = 0823 - 6512 = 86572 — 7656 =
234 + 541 = 5623 + 3411 = 5641 + 6724 =

72 of 2824 = 72 0f 5342 = 1/6 of 156 =



45 +5=9
4dx2x3=24

862 — 564 = 298
234 +541 =775
72 of 2824 = 1412

120+10=12
bxb6x6=216

9823 - 6512 = 3311
5623 + 3411 =9034
72 0f 5342 = 2671

252 +6=42
9x3x7=189

86572 — 7656 = 78916
5641 + 6724 = 12365
1/6 of 156 = 26



? =435 - 345
4x2x3=

421 + ? = 695
Y% of 4288 =
890+ 10 =

? =987 -439
bX6X6=

876 + ? =1348
Y. of 48 =
890 + 100 =

?=3451 -564
Ox3x7=

5654 + ? =7077
1/5 of 655 =
890 + 1000 =



90 =435 - 345
4dx2x3=24

421 + 274 = 695
72 of 4288 = 2144
890+ 10=89

548 =987 — 439
bxb6x6=216

876 +472 =1348
aof 48 =12
890+ 100=8.9

2887 =3451 - 564
9x3x/7=189

5654 + 1423 = 7077
1/5 of 655 =131
3890 + 1000 = 0.89



Q o Daily Calculations  3/4/20

h J
Grey . Geen | God

50 + 1000 = 67 + 200 + 561 = 56 + 230 + 2000 =
18+ 1= 678 =10 = 7657 + 10 =
4x8= 8X2x3= 5x8x9=

876 —514 = 761 —487 = 8761 —5612 =

% of 888 = % of 9872 = Y% of 76592 =



50 + 1000 =1050

18+1=18
4x8=32
876 —514 = 362

72 of 888 =444

67+ 200+ 561 =828 56+ 230+ 2000 = 2286

6/8+10=6/.8

8x2x3=48
761 —487 =274
% of 9872 = 4936

7657 +10=765.7

5x8x9 =360
8761 —5612 = 3149
Y% of 76592 = 38296



